Aversan Pergola

ZIiP SISTEMI
ZIP SYSTEMS



ZiP SISTEMIi/ZIP SYSTEMS

Aversan Pergola




‘ ZiP SISTEMIi/ZIP SYSTEMS ‘

ZiP SISTEMi PROFILLERI
ZIP SYSTEM PROFILES

111 1,50 108
81
MOTOR KUTUSU MOTOR KUTUSU KAPAGI
ENGINE BOX ENGINE BOX COVER
2878 2875
1.585 kg/m 0.837 kg/m
20
8 ; . 1’2 g 1,10
a = ]
’ 4 19
I S W— / g |
40 49 Es
SAGAK PROFILI DIKME PROFILI DIKME PROFILI 2 DIKME VIDA KAPAGI
FRINGE PROFILE SEWING PROFILE SEWING PROFILE 2 SEWING SCREW COVER
2879 2877 2874 2876
1.208 kg/m 0.726 kg/m 0.382 kg/m 0.084 kg/m

d



ZiP SISTEMIi/ZIP SYSTEMS

Motor Kutusu
Engine Box

Product Code: 2878

Weight kg/m: 1,585
(111 x111 x 1,5mm)

Motor Kutusu Kapag
Engine Box Cover

Product Code: 2875

Weight kg/m: 0,837
(108 x 81 x 1,5mm )

Sacak Profili
Fringe Profile

Product Code: 2879

Weight kg/m: 1,208
(53x45x1,2mm)




‘ ZiP SISTEMIi/ZIP SYSTEMS '

Dikme Profili
Sewing Profile

Product Code: 2877

Weight kg/m: 0,726
(43 x20x 1,2mm)

Dikme Profili 2
Sewing Profile 2

Product Code: 2874

Weight kg/m: 0,382
(43 x20x 1,2mm )

Dikme Vida Kapag
Sewing Screw Cover

Product Code: 2876

Weight kg/m: 0,084
(19x6,6x1,1mm)

d



ZiP SISTEMIi/ZIP SYSTEMS

Bayrak Sa Bayrak Sol Bayrak Kizagi
F!ag Right g Fia)é Left I F!ag Sled 9

Agirlik Profili Citasi Agirlik Profili Kapagi Yan Dikme Profili Kapag:
I W%ight Profile I(_;arh I V\gighr Profile C-:J\.re.r'g I Side Strut Profile Covep 9

Boru Bagi ve Motor
IRuIman Yatagdi Plastigi Switch Plastigi 6301 Rulman
Bearing Housing Plastic Pipe Head and Motor 6301 Rulman
Switch Plastic

M3x8 H.B. Yildiz

3.9x19 YHB Vida %%3!& }L?gx Star M3 Somun M6x8 Setskur Vida
3.9x19 YHB Screw Heade d' hiox M3 Nut M6x8 Setskur Screw
@ Box Piece: 150 Box Piece: 20 Box Piece: 20 Box Piece: 20




ZiP SISTEMIi/ZIP SYSTEMS

Zip Perde Fermuar 6mm Pvc Gubuk Dikme Kueksiz Fitil Dikme Balonlu Contasi
Zip Curtain Zipper 6mm Pvc Rod Sewing Quenched Roving Strut Balloon Gasket
Code: ZIP-02 Code: ZIP-03 Code: ZIP-04 Code: ZIP-05

Roll: 200 mt. Box Piece: 6 mt 25 Piece Box Piece: génlgiece Roll: 100 mt.

Somfy Zip Perde 70 Lik Galvaniz Boru Universal Zip Perde

Motor Aparati 70 Galvanized Pipe Motor Aparati

Somfy Zip Curtain Universal Zip Curtain

Motor Apparatus Code: ZIP-07 Motorized Apparatus
Box Piece: 6 mt.

Code: ZIP-06 Code: ZIP-08

Box Piece: 1 Box Piece: 1

SOMFY RTS 20 NM SOMFY RTS 40 NM Motor Kutusu Contasi 6.7x800 Kil Fitil
SOMFY RTS 20 NM SOMFY RTS 40 NM Engine Box Gasket 6.7x800 Bristle Wick
Code: RTS-20 Code: RTS-40 Code: GYT-28 Code: GYT-29

Box Piece: 1 Box Piece: 1 Roll: 75 mt. Roll: 250 mt.

Zip Screen Kumag Krem Zip Screen Kumas Gri Zip Screen Kumag Beyaz
Zip Screen Fabric Cream Zip Screen Fabric Gray Zip Screen Fabric White
Code: ZIP-KO1 Code: ZIP-K02 Code: ZIP-K03

Roll: 1 Roll: 1 Roll: 1




Motor Kutusu ve Kapagi
Engine Box and Cover

7

ZiP SISTEMIi/ZIP SYSTEMS '

Zip Screen Kumag Gri
Zip Screen Fabric Gray

¥
i . :
Dikme Profili
g Sewing Profile Sacgak Profili
? =
¥
-

Fringe Profile




‘ ZiP SISTEMIi/ZIP SYSTEMS '

ZiP PERDE MOTOR KUTUSU MONTAUJI
ZIP CURTAIN MOTOR BOX ASSEMBLY

SOMFY RTS




T %1

1

—-—11————1—--——
L3

—--—-——-————'-——-——————-

T = & % 8

-‘-——-—--———————-
A}

'-—d—-——————-—-—-!—'———-—-

L U T |
T 1 1 % 1 1 8 01 % % B B % % % % % % ohowon
SRR i T Pt bV a VORT TE W LR B RN R

T 1T &+ ¥ % %%
T 1T 1 1T ©§T ¥ §¥ 1§ TORORNOREORORNAOTLT
—-—-—---—

T ¥ 1% % 1% %R OROROROEOEOEOE R ORNORORORNOROWNORA s o aatad @ whaiahiaiua
T 1 2 1 ¥ % 1 %1 % L TLLROLOELORNORORORORLTORTORETORTNORLLGY ——-----—-—-_—--——-—-—
--—----—-———-—————- -—--——-—-—-—————-——---

——-—-'-—-—--aaunnn—-_—_—_—-
-—-lC-——-—-C-
dﬂﬂauuiﬂiiiﬂ
-———---

EEEEERRE

———-—-———-—-
SRR

-—-—--—————-———
-'--——

(O U U U T T O )
-———-—-——-———--
L U W W

SRR T LT e
-—----—

g 1 8 n % % %
SRR

”-—-——ﬂ———-———
Y L T

-.—-————-

(2]
=
1T
@
S=
(7))
o
N
—
=
1T
[
i
7]
*
N

SR T e VR
--_—---
[

ZIP PERDE DIKME MONTAJI
ZIP CURTAIN SEWING ASSEMBLY

4 4 % % %}
g2l BVl

-—-——-—-——-
TR

a a2l
—--¢-
SO A ey

vy

"SRR
PRSI R B M

[ T T
LI

s 10N
gannd

T T T T LU B
garnd

s 202 30
——-————_-—
'R

-—-————-—-
LY T -—_—_-_—-_
R

--—--—--—

——-—-—’—-

--—
———-—————

----—---
—--——-_———_

ZIP-K02 ¢




‘ ZiP SISTEMIi/ZIP SYSTEMS ‘

Agirlik Demiri

GYT-28




Aversan Pergola

Ofis: Mollahlisrev Mahallesi Cemalyener Tosyali Caddesi No:17 Fatih/istanbul
Fabrika: Givercintepe Mahallesi Kadife Sokak No:6 Basaksehir/istanbul
iletisim: 0 (212) 687 04 05

Cep: 0 (531) 62291 33



